**PR Number:** STF-2024-10-02451

**PPMP Number:** PPMP-2025-092724-0687

Office: ULC

Purpose: ULC-2025-STF-Office Supplies and Equipment

No.	Item Name	Quantity	Quarter	MOP	Status
1	Acetate, transparent, gauge #4, approx. 50m/roll	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 1,398.00 Quantity: 5 Total Cost: 6,990.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 5 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
2	Acetate, transparent, guage #6, approx. 50m/roll	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 1,998.00 Quantity: 2 Total Cost: 3,996.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 2 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
3	Adhesive tape, 1"	50	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 58.00 Quantity: 50 Total Cost: 2,900.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 50 Received By: Joana Lin C. Sy  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
4	Alcohol, Ethyl, 500mL	4	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 90.00 Quantity: 4 Total Cost: 360.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 13 Received By: John Claire C. Limosnero  Delivered Qty: 9 Received By: Joana Lin C. Sy  Delivered Qty: 9 Received By: Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
5	Alpha gina Cloth, green, meter	138	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 30.00 Quantity: 138 Total Cost: 4,140.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 138 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
6	Alpha gina Cloth, yellow, meter	138	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 40.00 Quantity: 138 Total Cost: 5,520.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 138 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
7	Ballpen 50 Pieces, Blue	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 350.00 Quantity: 2 Total Cost: 700.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 2 Received By: John Claire C. Limosnero  Delivered Qty: 3 Received By: Joana Lin C. Sy  Delivered Qty: 3 Received By: Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
8	Binding cloth, Brown	10	2	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 450.00 Quantity: 10 Total Cost: 4,500.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 10 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
9	Binding cloth, Dark Blue	10	2	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 450.00 Quantity: 10 Total Cost: 4,500.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 10 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
10	Binding cloth, Light Gray	10	2	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 450.00 Quantity: 10 Total Cost: 4,500.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 4 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
11	Binding cloth, Red	10	2	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 450.00 Quantity: 10 Total Cost: 4,500.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 7 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
12	Binding cloth, Yellow	10	2	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 450.00 Quantity: 10 Total Cost: 4,500.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 10 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	МОР	Status
13	Bond Paper, 70 gsm, A4	55	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 220.00 Quantity: 55 Total Cost: 12,100.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 125 Received By: John Claire C. Limosnero  Delivered Qty: 80 Received By: Joana Lin C. Sy  Delivered Qty: 80 Received By: Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
14	Bond Paper, 70 gsm, Long	30	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 230.00 Quantity: 30 Total Cost: 6,900.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 35 Received By: John Claire C. Limosnero  Delivered Qty: 70 Received By: Joana Lin C. Sy  Delivered Qty: 70 Received By: Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
15	Bond Paper, 70 gsm, Short	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 210.00 Quantity: 5 Total Cost: 1,050.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 5 Received By: Joana Lin C. Sy  Delivered Qty: 5 Received By:  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
16	Cable Tie, 8", 100 pcs/pack	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 108.00 Quantity: 5 Total Cost: 540.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 5 Received By: Joana Lin C. Sy  Delivered Qty: 5 Received By: Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
17	Cartolina Vellum	1200	2	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 38.00 Quantity: 1200 Total Cost: 45,600.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 1200 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	МОР	Status
18	Chip Board or Paste Board #25	1000	2	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 65.00 Quantity: 1000 Total Cost: 65,000.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 80 Received By: Joana Lin C. Sy  Delivered Qty: 80 Received By: John Claire C. Limosnero  Delivered Qty: 280 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
19	Chip Board or Paste Board #40	1000	2	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 50.00 Quantity: 1000 Total Cost: 50,000.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 120 Received By: Joana Lin C. Sy  Delivered Qty: 120 Received By: John Claire C. Limosnero  Delivered Qty: 300 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
20	Date stamp, 10 years advance or more	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 193.00 Quantity: 3 Total Cost: 579.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 1 Received By: Joana Lin C. Sy  Delivered Qty: 3 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
21	Detergent Powder, 1 kilogram	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 148.00 Quantity: 5 Total Cost: 740.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 67 Received By: Joana Lin C. Sy  Delivered Qty: 5 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
22	Double Sided Glossy Photo Paper A4 (50sheets per pack)	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 245.00 Quantity: 5 Total Cost: 1,225.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	МОР	Status
23	Dust Bin (Trash Bin), durable plastic, w/ swing- type cover, approx. 25L capacity	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 290.00 Quantity: 5 Total Cost: 1,450.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 5 Received By: Joana Lin C. Sy  Delivered Qty: 5 Received By:  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
24	Dust Pan	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 120.00 Quantity: 3 Total Cost: 360.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 3 Received By: Joana Lin C. Sy  Delivered Qty: 3 Received By: Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
25	Fabric Conditioner, Refill	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 348.00 Quantity: 5 Total Cost: 1,740.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 5 Received By: Joana Lin C. Sy  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	МОР	Status
26	Feather duster, 19"-23"	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 55.00 Quantity: 10 Total Cost: 550.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 10 Received By: Joana Lin C. Sy  Delivered Qty: 10 Received By:  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
27	Garbage Bags / Trash Bags, Black, L	50	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 63.00 Quantity: 50 Total Cost: 3,150.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 10 Received By: Joana Lin C. Sy  Delivered Qty: 50 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
28	Glue (Polyvinyl acetate)	35	2	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 647.00 Quantity: 35 Total Cost: 22,645.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 35 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
29	Heavy Duty Scissors	2 1	1 Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 490.00 Quantity: 2 Total Cost: 980.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Bid Title: GOODS-25-29 is currently under evaluation	
					for award by the BAC Members and TWG.  Bid Number: RY5G2M4HCB  Bidding Status: IN-BIDDING
30	Index tab stick up (sign here) 50x2 sheets, 44x25mm	15	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 55.00 Quantity: 15 Total Cost: 825.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
31	Laminating Film, 9 inch x 50 m, 250 miccrons	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 1,047.00 Quantity: 1 Total Cost: 1,047.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 1 Received By: Joana Lin C. Sy  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
32	Liquid Hand Soap	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 565.00 Quantity: 3 Total Cost: 1,695.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 24 Received By: Joana Lin C. Sy  Delivered Qty: 5 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB
				Competitive Bidding	Bidding Status: IN-BIDDING  PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 195.00 Quantity: 3 Total Cost: 585.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING
33	Magic tape, 12mm x 50m, roll	3	1		PRESS Obligation Number: 02-206441-2025-07-2450  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB
34	Masking Tape, 1"	50	1	Competitive Bidding	Bidding Status: IN-BIDDING  PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 58.00 Quantity: 50 Total Cost: 2,900.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 55 Received By: Joana Lin C. Sy  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
35	Masking Tape, Brown, 2"	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 70.00 Quantity: 10 Total Cost: 700.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 7 Received By: Joana Lin C. Sy  Delivered Qty: 7 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
36	Microfiber cleaning cloths wiping rags double layer	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 25.00 Quantity: 10 Total Cost: 250.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 10 Received By: Joana Lin C. Sy  Delivered Qty: 10 Received By: Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
37	Mop Rug, Heavy Duty, 100% cotton	12	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 80.00 Quantity: 12 Total Cost: 960.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 12 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
38	Official Record Book (8.5" x 11" 500 pages)	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 185.00 Quantity: 5 Total Cost: 925.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 5 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
39	PVC Coated paper for bookbinding (Haspi), Brown	25	2	Competitive Bidding	PO #: VSU-GOODS-25-35-301 (STF) Bid Price: 180.00 Quantity: 25 Total Cost: 4,500.00 PO Amount: 48,965.00 Supplier: HANZ GRAPHICS AND DIGITAL IMAGING CENTER Obligation Number: 02-206441-2025-08-2729  Delivered Qty: 25 Received By: Gerardo G. Guinocor  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
40	PVC Coated paper for bookbinding (Haspi), Dark Blue	25	2	Competitive Bidding	PO #: VSU-GOODS-25-35-301 (STF) Bid Price: 180.00 Quantity: 25 Total Cost: 4,500.00 PO Amount: 48,965.00 Supplier: HANZ GRAPHICS AND DIGITAL IMAGING CENTER Obligation Number: 02-206441-2025-08-2729  Delivered Qty: 25 Received By: Gerardo G. Guinocor  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
41	PVC Coated paper for bookbinding (Haspi), Light Blue	25	2	Competitive Bidding	PO #: VSU-GOODS-25-35-301 (STF) Bid Price: 180.00 Quantity: 25 Total Cost: 4,500.00 PO Amount: 48,965.00 Supplier: HANZ GRAPHICS AND DIGITAL IMAGING CENTER Obligation Number: 02-206441-2025-08-2729  Delivered Qty: 25 Received By: Gerardo G. Guinocor  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
42	PVC Coated paper for bookbinding (Haspi), Maroon	25	2	Competitive Bidding	PO #: VSU-GOODS-25-35-301 (STF) Bid Price: 180.00 Quantity: 25 Total Cost: 4,500.00 PO Amount: 48,965.00 Supplier: HANZ GRAPHICS AND DIGITAL IMAGING CENTER Obligation Number: 02-206441-2025-08-2729  Delivered Qty: 25 Received By: Gerardo G. Guinocor  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
43	PVC Coated paper for bookbinding (Haspi), Yellow	25	2	Competitive Bidding	PO #: VSU-GOODS-25-35-301 (STF) Bid Price: 180.00 Quantity: 25 Total Cost: 4,500.00 PO Amount: 48,965.00 Supplier: HANZ GRAPHICS AND DIGITAL IMAGING CENTER Obligation Number: 02-206441-2025-08-2729  Delivered Qty: 25 Received By: Gerardo G. Guinocor  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
44	PVC Electrical Wire Moulding, rectangular 1", 8 ft	50	1	Competitive Bidding	PO #: VSU-GOODS-25-38-332 (STF) Bid Price: 75.00 Quantity: 50 Total Cost: 3,750.00 PO Amount: 7,645.20 Supplier: BRODETH MARKETING Obligation Number: 02-206441-2025-08-2830  Delivered Qty: 50 Received By: Eric B. Sopa  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
45	Paper Cutter, wood, A4 size	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 623.00 Quantity: 2 Total Cost: 1,246.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 2 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
46	Paper, Parchment, A4, cream, 100 sheets/pack	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 490.00 Quantity: 2 Total Cost: 980.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 2 Received By: Joana Lin C. Sy  Delivered Qty: 2 Received By:  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
47	Pencil Sharpener	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 347.00 Quantity: 5 Total Cost: 1,735.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 5 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
48	Pencil, Lead/Graphite, with Eraser	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 118.00 Quantity: 2 Total Cost: 236.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 2 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
49	Permanent Marker / Permanent Pen, Black, Broad	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 48.00 Quantity: 10 Total Cost: 480.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 15 Received By: Joana Lin C. Sy  Delivered Qty: 15 Received By:  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
50	Ream Cutter A3 Size Heavy Duty Paper Cutter, Paper Trimmer, Ream Paper Cutting Machine, Steel	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 6,000.00 Quantity: 1 Total Cost: 6,000.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
51	SIGN PEN, Extra fine tip, Blue 0.5	100	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 22.00 Quantity: 100 Total Cost: 2,200.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 100 Received By: Joana Lin C. Sy  Delivered Qty: 100 Received By:  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
52	Scissors, 8" heavy duty, good quality	7	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 75.00 Quantity: 7 Total Cost: 525.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 7 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
53	Soft Broom (Tambo) 200g minimum, heavy duty	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 120.00 Quantity: 10 Total Cost: 1,200.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 15 Received By: Joana Lin C. Sy  Delivered Qty: 15 Received By:  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
54	Staple Wire No. 35-5M Leg Length 6mm (1/4'')	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 78.00 Quantity: 10 Total Cost: 780.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 10 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
55	Staple wire No. 35-1m, leg length 5mm	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 35.00 Quantity: 10 Total Cost: 350.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 10 Received By: Joana Lin C. Sy  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
56	Stapler, Standard Type	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 200.00 Quantity: 2 Total Cost: 400.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 10 Received By: John Claire C. Limosnero  Delivered Qty: 3 Received By: Joana Lin C. Sy  Delivered Qty: 3 Received By: Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
57	Stick Broom (tingting) 6" from the top, approx 370 pcs	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 59.00 Quantity: 5 Total Cost: 295.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 5 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
58	Tape Dispenser, Table Top	4	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 113.00 Quantity: 4 Total Cost: 452.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 4 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	МОР	Status
59	Tape, Double Sided, 1" x 10m	15	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 43.00 Quantity: 15 Total Cost: 645.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 22 Received By: Joana Lin C. Sy  Delivered Qty: 15 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
60	Tape, Foam, Double Sided, 1/2" x 5m	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 48.00 Quantity: 5 Total Cost: 240.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 5 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
61	Thermal Paper	50	1	Competitive Bidding	PO #: VSU-GOODS-25-29-114 (STF) Bid Price: 58.00 Quantity: 50 Total Cost: 2,900.00 PO Amount: 408,557.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-206441-2025-07-2476  Delivered Qty: 50 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
62	Toilet Bowl Cleaner / Urinal Cleaner, 1 Gallon	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 395.00 Quantity: 2 Total Cost: 790.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 2 Received By: Joana Lin C. Sy
					Delivered Qty: 2 Received By:  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG.  Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
63	Toilet Tissue Paper, 2 Ply	4	1	Competitive Bidding	PO #: VSU-GOODS-25-29-120 (STF) Bid Price: 180.00 Quantity: 4 Total Cost: 720.00 PO Amount: 763,489.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-206441-2025-07-2450  Delivered Qty: 2 Received By: Joana Lin C. Sy  Delivered Qty: 2 Received By: John Claire C. Limosnero  Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING